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W = 2.15° Y = 1.83°
~ ¢r = 10.32° dr = 9.98°
Re(nm) = 50.0 Re(rm) = 50.0
RE =1 RE =
max(%) = 70.8 max(%) = 72.9
min/max= 0.006 min/max= 0.008
a/b =0.079 a/b =0.087
$p = 0.2 ¢p = 0.21°
W = 10.08° b = 977
Yy’ = 1.91° gy’ = 1.82°
RE PR

(=)




D Re TAC
Re
E D
w®p W 550nm
E D
PR
®p L
{." P i \ :.-" B = :f'- B \I‘\
X 1) \ T ) L e
L“. T & / I\-__ i f; \\\\ I _.',”
[ T ) ( 5 ( T )
% . 1 \ / \ LS
"'~.__%__,.-'! ________,A ki !
S ~ {RFEHRA, TRIEHRD {RIEHRE
BARAHN => v = 0.36° Y = (0.49° Y = 0.20°
ér = -89,22° ér = -88.78° ¢r = -89.29°
Re(rm) = 97.8 Re(rm) = 98.5 Re(rm) = 100.0
RE o= 1 o= 1 R =1
max(%) = 73.5 max(%) = 78.0 max(%) = 80.4
min/max= 0,000 mirdmax= 0,000 min/max= 0,000
a’b =0.000 a’/b = ).000 a’b = ().000
RATFEAH > ¢p = 0.38° dp = 0.2¢4° dp = p.2r
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